STy Fa7R— N = = = BRBRIRT | B i IV R— [TLAHR— [, g TOFor [7079F |gomm N
NAME =7Y—L | BB Say DYX/TU|ENERE | | B | R |8 |0 [SEE | SEER |SEECR) SR | XEOF) |EE (&) (%A K# | REH) |BREGR) (BRoiE e FRE | FK ARODE | KEOE Lo 25ha |FURZE A it#Etvba Si—m ke |9a—nEs KIS | EBExp
YA\
0
E—FJ— 0 1
8
9
IFJ—F-Dz4> 0 1 1 2 2 1
ED 1 0 1 2 o o] 5[ o] 2 0 1 1 1 1 25240 10
"HRTAT-TI=R4T 1
IFRR=TA of 1] o] 2 5[ 3 2 5500 2
Ke=i 1
TY 0 1 4 4] 4] 2] 3 0 0 0 0 1 1 1 -17700 3
% TE 1
AT 1
9
TA 1 1 1 ~55000
NEXS 0 1
B
NAYL-FIR
S=F=INJRF— 1 1] 1 1 36378 7
—Z# 3 1 1 20188 6
(55 [Eait




